9, Zfl

D5 EDGEE FEESEMRCDONT @ BN RF0BASHATRDFEIC DVNTIDEZE

Do ED SIS CIREEICHE
T MR RSFOBUABHME

QI MHENRFCRBUSHEMROBE ICOVNT NERRENER TS EICLE

% DOREEZIITNDIFDEESE BEENDDFE
?% Brlc DT
TEEEEER | SRIEEEEMR
= RESRITHE | REBRITH %gﬁﬁ%%@g\%gg%dé ﬁ%uﬁégﬁ}%@(ﬁg%dé
= 3 SEE0 = [ L = 3 S0 == [ £
20 1 9Ef§ {L‘F@ 20 ] QEE {L_Fa}ﬂ il uz{%ﬁﬁ/ﬁg) | uzulL\;\/EED 71 nz{%ﬁﬁ/ﬁg} | nznlu:\}:E[ZJJ
110m 549 (rmREE % - FREE O G FE0 [ B 10253 Zri#4-5
2| 17 30 [T Tl e M I EE R C0D
ClI=lzEha 38 35]1. 2 3(EHNJEIZLD) 3(BIFEICED) 4.5
4|8BE2m 1562 1408 | B X2 R OB #EE1~5 EBH TR OBEN#EE1~5  JE*
b mAm 24 29 |RREFEDE H 25 LI HWT T 5720 . RVE BN LOL A EL COET
6| A0 12 17
7| FhEETD 664
8IBLEm 137 113
9L HFFH 40 45
0| —=H] 218 287 [ ZA #E1,2,3 EFE I
IE=E
12|E 0 458 276|F /1 ~31C% 4T A 4 5ICN T AT
13[@am 61 205 | JEHEZR L FAEZRL
14/ B 608 376 F i L, 2K N FRL LIS k O FEAGES T4, 5
15| =% 18 53 0
16|35)1mH 13 25
HENON:
BI=L\EE M 240 498 | X2 IS EAN#1LL | EhE R
FIVET 47 114]1~2 3~5
20| FEm 67 208 | FEYEARL
211#8)1lm 81 540 0
22|dE&mh 43 50
23|{FP=H 22 HEZ TN 3
24| 312 A7 S| H it 1 b b ORI E R O Rl 5700 1. B JriA-5077, 2. B ~3C % EREM
25| MM 24 29 |22 FE Ma XX MbE 7~ XY FEB1 X EB2 SN EEIV UIMEE 7= &V BECT T C2
263k~ 23 33
278551 23 25[FERHILLE SMExEBR THH#ILL L SR
28| E=UHET 0 3
29[ HT 2 5
3008/ 18T 0 0
31| mLUET 2 010 O
32|/)\J 18] 1 T4, B S
33I1S8T
34|ZEHT 4 414 4
35 ELLBT 5 5[ 2L
36|EEHOET 0 1
CHEIIWN 0 0
38|PDRM 784 404 [ EAFEE1-3 A FEREA-5
39|EREETD 200 324 & H
40 3RWM 102 193 N#1LL E FAEALL |
41| A\Bh 399 520|F a1, B F#2 T EI 43 T A N NS
42|H2mM 0 6]— —
43|178m 25 48| F)ri#1~5 FiE1~5
44100/ 468 662 [BERDEEBY BIVRD L1350
453
46| A= 211 270 Ni#L, 2 NS 4,5
475EBm 27 464 H
418|=5Fm 23 341, 2 3,4, 5
49| ={CH]
50| 8RIh 40 78
5] 7%)5& 68 57
b2 |BEEST 9 16]0 0
3| AREH 49 63|/ iE2, TS T4, B FES
AR 1057 19513 4L5
bb BHT
56| &) | |B] 1 4| EN 2K '3 TN &4 05
hd e=EL] 18 10| FEri#2. 3 T4, 5
RIEIEE 4 11]3 45
HI|REA T 88 53| E 2, BENi#E1~3 T i#4~5
60| kel 12 0[1LLE 101
61| E555HT
62| =R 8 2
631/ \EEEFHT 6 6
=L 8,083 9,877

45 R—




